## **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 9 - Burntisland Kinghorn & Western Kirkcaldy		
Valid Votes	5,891		
Positions to be Filled	3		
Quota	1,473		

# Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Lesley Rankin BACKHOUSE	Scottish National Party (SNP)	1,735
Andrew Ewan BENTLEY-STEED	Independence for Scotland Party	33
Garry V DOWNIE	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	40
Colin FRASER	Alba Party for independence	76
Kathleen LESLIE	Scottish Conservative and Unionist	1,239
Claire Emily LUXFORD	Scottish Greens - Think Global Act Local	336
Julie MACDOUGALL	Scottish Labour Party	1,730
Anne O'BRIEN	Scottish Liberal Democrats	209
Olaf David STANDO	Scottish National Party (SNP)	493
	Total	5,891

Candidate Lesley Rankin BACKHOUSE Elected with 1,735 votes, being in excess of the quota of 1,473 Candidate Julie MACDOUGALL Elected with 1,730 votes, being in excess of the quota of 1,473

# **Transfers Report**

This report contains the transfers results.

# Stage 2 - Surplus of Lesley Rankin BACKHOUSE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew Ewan BENTLEY-STEED	49	0.15100	7.39900
Transfer to Colin FRASER	42	0.15100	6.34200
Transfer to Kathleen LESLIE	43	0.15100	6.49300
Transfer to Claire Emily LUXFORD	231	0.15100	34.88100
Transfer to Anne O'BRIEN	40	0.15100	6.04000
Transfer to Olaf David STANDO	1,223	0.15100	184.67300
No further preference	102	0.15100	15.40200
Not transferred due to rounding			0.01500
	Total		262.00000

# **Transfers Report**

This report contains the transfers results.

# Stage 3 - Surplus of Julie MACDOUGALL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew Ewan BENTLEY-STEED	14	0.14855	2.07970
Transfer to Garry V DOWNIE	33	0.14855	4.90215
Transfer to Colin FRASER	22	0.14855	3.26810
Transfer to Kathleen LESLIE	342	0.14855	50.80410
Transfer to Claire Emily LUXFORD	186	0.14855	27.63030
Transfer to Anne O'BRIEN	529	0.14855	78.58295
Transfer to Olaf David STANDO	106	0.14855	15.74630
No further preference	498	0.14855	73.97790
Not transferred due to rounding			0.00850
	Total		257.00000

# **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of Andrew Ewan BENTLEY-STEED

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Garry V DOWNIE	3	1.00000	3.00000
Transfer to Colin FRASER	10	1.00000	10.00000
Transfer to Kathleen LESLIE	1	1.00000	1.00000
Transfer to Claire Emily LUXFORD	10	1.00000	10.00000
Transfer to Anne O'BRIEN	1	1.00000	1.00000
Transfer to Olaf David STANDO	3	1.00000	3.00000
Transfer to Garry V DOWNIE	6	0.15100	0.90600
Transfer to Colin FRASER	8	0.15100	1.20800
Transfer to Kathleen LESLIE	1	0.15100	0.15100
Transfer to Claire Emily LUXFORD	5	0.15100	0.75500
Transfer to Anne O'BRIEN	3	0.15100	0.45300
Transfer to Olaf David STANDO	17	0.15100	2.56700
Transfer to Garry V DOWNIE	1	0.14855	0.14855
Transfer to Colin FRASER	1	0.14855	0.14855
Transfer to Claire Emily LUXFORD	1	0.14855	0.14855
Transfer to Anne O'BRIEN	2	0.14855	0.29710
Transfer to Olaf David STANDO	2	0.14855	0.29710
No further preference	5	1.00000	5.00000
No further preference	9	0.15100	1.35900
No further preference	7	0.14855	1.03985
Not transferred due to rounding			0.00000
	Total		42 47870

Total

42.47870

# **Transfers Report**

This report contains the transfers results.

# Stage 5 - Exclusion of Garry V DOWNIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin FRASER	5	1.00000	5.00000
Transfer to Kathleen LESLIE	21	1.00000	21.00000
Transfer to Claire Emily LUXFORD	2	1.00000	2.00000
Transfer to Anne O'BRIEN	5	1.00000	5.00000
Transfer to Olaf David STANDO	1	1.00000	1.00000
Transfer to Colin FRASER	3	0.15100	0.45300
Transfer to Claire Emily LUXFORD	1	0.15100	0.15100
Transfer to Anne O'BRIEN	1	0.15100	0.15100
Transfer to Colin FRASER	3	0.14855	0.44565
Transfer to Kathleen LESLIE	5	0.14855	0.74275
Transfer to Claire Emily LUXFORD	4	0.14855	0.59420
Transfer to Anne O'BRIEN	4	0.14855	0.59420
Transfer to Olaf David STANDO	1	0.14855	0.14855
No further preference	9	1.00000	9.00000
No further preference	6	0.15100	0.90600
No further preference	17	0.14855	2.52535
Not transferred due to rounding			0.00000
	Total		49.71170

# **Transfers Report**

This report contains the transfers results.

# Stage 6 - Exclusion of Colin FRASER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kathleen LESLIE	7	1.00000	7.00000
Transfer to Claire Emily LUXFORD	13	1.00000	13.00000
Transfer to Anne O'BRIEN	7	1.00000	7.00000
Transfer to Olaf David STANDO	39	1.00000	39.00000
Transfer to Kathleen LESLIE	2	0.15100	0.30200
Transfer to Claire Emily LUXFORD	11	0.15100	1.66100
Transfer to Anne O'BRIEN	1	0.15100	0.15100
Transfer to Olaf David STANDO	18	0.15100	2.71800
Transfer to Kathleen LESLIE	1	0.14855	0.14855
Transfer to Claire Emily LUXFORD	4	0.14855	0.59420
Transfer to Anne O'BRIEN	5	0.14855	0.74275
Transfer to Olaf David STANDO	5	0.14855	0.74275
No further preference	25	1.00000	25.00000
No further preference	21	0.15100	3.17100
No further preference	11	0.14855	1.63405
Not transferred due to rounding			0.00000
	Total		102.86530

# **Transfers Report**

This report contains the transfers results.

## Stage 7 - Exclusion of Anne O'BRIEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kathleen LESLIE	66	1.00000	66.00000
Transfer to Claire Emily LUXFORD	50	1.00000	50.00000
Transfer to Olaf David STANDO	23	1.00000	23.00000
Transfer to Kathleen LESLIE	2	0.15100	0.30200
Transfer to Claire Emily LUXFORD	4	0.15100	0.60400
Transfer to Olaf David STANDO	17	0.15100	2.56700
Transfer to Kathleen LESLIE	161	0.14855	23.91655
Transfer to Claire Emily LUXFORD	131	0.14855	19.46005
Transfer to Olaf David STANDO	22	0.14855	3.26810
No further preference	83	1.00000	83.00000
No further preference	22	0.15100	3.32200
No further preference	226	0.14855	33.57230
Not transferred due to rounding			0.00000
	Total		309.01200

# **Transfers Report**

This report contains the transfers results.

497.47930

# Stage 8 - Exclusion of Claire Emily LUXFORD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kathleen LESLIE	21	1.00000	21.00000
Transfer to Olaf David STANDO	217	1.00000	217.00000
Transfer to Kathleen LESLIE	3	0.15100	0.45300
Transfer to Olaf David STANDO	148	0.15100	22.34800
Transfer to Kathleen LESLIE	29	0.14855	4.30795
Transfer to Olaf David STANDO	48	0.14855	7.13040
No further preference	173	1.00000	173.00000
No further preference	101	0.15100	15.25100
No further preference	249	0.14855	36.98895
Not transferred due to rounding			0.00000
	Total		497.47930

# **Transfers Report**

This report contains the transfers results.

# Stage 9 - Exclusion of Olaf David STANDO

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kathleen LESLIE	191	1.00000	191.00000
Transfer to Kathleen LESLIE	207	0.15100	31.25700
Transfer to Kathleen LESLIE	33	0.14855	4.90215
No further preference	585	1.00000	585.00000
No further preference	1,216	0.15100	183.61600
No further preference	151	0.14855	22.43105
Not transferred due to rounding			0.00000
	Total		1,018.20620